RD SHARMA
Solutions

Class 8 Maths
Chapter 9

Ex 9.2



Solve each of the following equations and also verify your solutions:

1 E> =3x-10
Sol:
X5 _3x—10

J
=>2x+5=9x-30
=>09x—-2x=5+30

= 7Tx=35
S k=B
= x=5
Verification
10+5

LHS= 3
=15

3
RHS=15-10
=5

Hence, LH.S=R.H.S

a8 _ a3
Q2 3 2

Sol:

a-3

2

a-8
3
=>2a-16=3a-9
=>3a-2a=9-16

= a=-7
Verification
LHS= =
_ s

3
=-5
RHS=—22
=10

2
=-5

Hence, LHS=RH.S

T2 6y-5
B ===
Sol:
Tyt2 _ 6y-5

5 11
=>7Ty +22=30y-25
=>77y =30y =-25-22
= 47y =-47
= y=1
Verification

—7+2

LHS=—




=5
s

=-1

RHS= 32

_ou

T

=-1

Hence, LH.S=R.H.S

Q4.x—2x+2—13—6x+5=3—%x
Sol:

16 _, T
x—2x+2—Tx+5—3—7x

3x—6x+6-16x+15 _ 6-7x

3 2

=>-38x+42=18-21x
=>38x-2Ix=42-18
=> 17x=24

=2

= 7

<

Verification

24 16 24

B 24
LHS=2-23)+7- 5( )

Hence, LHS=RH.S

! s d
Q5. 7x+7x—6—7x+ 7
Sol:

1 1
X+ TX—6=TX+ —
2X Tx—6="7x T

= lx+7x—7x=%+6

2
_ox o e
2 4
= X = 25
2 4
25
== x ==
=3
Verification

_ 1,25 25
LHS= 5( T)+7(T)_6

Hence, LHS=RH.S

Q6.%x+4x=%+6x—6



Verification
_304 41
LHS= 7( 10)+4( 10)

_ 15 e
40 10

_ 1234636
70

Il
o] -
+
|
(o)}

_ 35+984-240
40

=10

40

Hence, LH.S=R.H.S

752
Q77x—3x— 3 x+10

Sol:

75 20

FX—FX=5x+ 10

_ TxSx | 20x430
2 3

=>40x + 60 = 6x
=> 40x — 6x = 60
=> 34x=-60

Verification

7,30 5. -30
LAS=3(=5)-3(57)

_30)+10

_2
RH.S= 3( 6

Hence, LH.S=R.H.S

6x+1 _ Ix3
Q8 =—+1==%

Sol:
6x+1 _ 7x3
— +1= 3

6x+1+2 7x=3
= —
2 3

= 18x+9=14x-6



= 18x—14x=-6-9
=>4x=-15

—-15
= x= -

Verification

6(=>+1)

LHS= 5

_ 4524

Hence, LH.S=R.H.S

3a-2 2at3 _ 7
Q9. 3 + 7= at+ 3
Sol:
3a-2 | 2a13 —at 1
3 2 6
__ G6a-4at6at9 _ 7
= —F —-atg
=>12a+5=6a+7
=>12a—-6a=7-5
=> 6a=2
= -2
=> a= r3
= a= %
J
Verification
1 1
3(3-2)  2(343)
LHS= 3 3
-1
_Zl,u
=2
6
=3
2
_1.,.7
RHS= Ttz
_9
D
=3
2

L _x2
Qlo.x—T—l— 3

Sol:

x=1 _ X—2

X——=]-==

2 3

2x—x+1 _ 3—=x+2
2 3

xtl _ 5x

=> ~
2 3

=>3x+3=10-2x
=>3x+2x=10-3

= Sx=17



_7_5
LHS=1-=
-7_1

5 5
_6

5
RHS=1 52
.=
=1-=
)

5

Hence, LH.S=R.H.S

3 x-1 _ x2
R R

- 3x2x+2 X;Z

4

=>4x-8=3x+6

=>4x-3x=6+8
=> x=14
Verification
I
=21 _13

2 2
=8

2
=4
RHS=122
- 12

3
=4

20x—3x+3 x-3

12 5

173 x3

12 5

=>85x + 15=21x-36
=>85x—12x=-36-15

=>73x =-51
. =51
- =
Verification

(3 F!
LHS= 2
05 -124
T 219 T 292
_ =54

73

=51

23
RHS=-2L




-54
I

Hence, LH.S=R.H.S

3x+1 2x-3 x+3 3x-1
+ = +
Q13 16 7 8 14

Sol:

3x+1 2x-3 _ xt+3 3x-1
T A S 14

3x+1 xt3 _ 3x-1 _ 2x-3

16 8 14 7

=>

3x+1-2x-6 _ 3x-1-4x+6

=>
16 14

= —x+
oo X5 XS

8 7
=>7x-35=-8x+40
=>7x+8x=40+35

= 15x=175
- _1
- XTT
=5
Verification

35 2(5)3
LHS — + —
=1.7

16 7

=2

543, 3051
R.H.S = + v
_ 8 14
AT
=2

Hence, LH.S=R.H.S

7 8
Sol:
1-2x 2-3x _ X
% 377
__1=2x _ 3 X 2-3x
i A
— 1-2x _ 12+2x+2-3%x
7 8
= 12x _ 14x
7 8

=>8—16x =98 - 7x
=> 16x—-T7x=8-98

== 9x=-90
Verification

12100 2-3(-10)
LHS= — -5
_ 1420 2430

7 8
=3-4
=-1
-10




+

3 -5
2 2

3—

5
2

=-1
Hence, LH.S=R.H.S

Q15 9x2+7 _(X_¥ ~36
Sol:
9x+7 X2 _
T —(x==-= 36

oo 63xHO-lxiOxd

14
__ Shxrds _
=> T 36
=>51x +45=504
=> 5Ix=504-45
= 51x =459
= = ﬂ

51
=9
Verification
997 9-2

88 7
=5 9+ =
=44-9+1
=36
RHS=36

Hence, LH.S=R.H.S

Q16 0.18(5x —4) = 0.5x + 0.8
Sol:

0.18(5x—4)=0.5x+ 0.8
=>0.9x-0.72=0.5x + 08
=>0.9x-0.5x=0.8+0.72
=>04x=1.52

1.52
= XT3

=38

Verification
L.H.S=0.18(5(3.8)—4)
=0.18 x 15

=27
RH.S=0.5(3.8)+0.8
=27

Hence, LHS=RH.S

2 31
A7 x-x=3
Sol:

2 _3_1

3x 2x 2
L



-5 1

= — =

6X 2
=>6x = -60
= x=-10
Verification
__2 3
LHS= 3(-10)  2(-10)
-2 3
-30 ~ 20
449
760
-3
60
- L
12
1
RHS=—

12

Hence, LHS=RH.S

4x 1 13 8+19
QI8 =+ 5+ X = —3
Sol:
4 1, 13 BxtI9

o P38 T s

- 48x+36+13x _ 8x+19

10 18

61x+36  8x+19
108 18

Multiply both sides by 108
=>06Ix+36=48x+ 114
=>61x—-48x=114-36
= [3x=78

Verification

_ 46 1 13
LHS= - + 3 + 108(6)

24 1 13
=T tstw
_48+6+13
- 18
_ 67

18

_ 8(6)+19
RHS=—¢
=67

18

Q19 45-2x  4x+10 _ 15-14x

13 5 T 9
Sol:
45-2x  Ax+10 _ 15-14x
15 5 9

Multiply by 3°

_o 45-2x-12x30 _ 15-14x
15 3

15-14x _ 15-14x
5 3

=

=>45-42x="75-70x




=>T70x —42x =75-45
=>28x =30

= x=3

= X=z

Verification

452(3)  45($)10

LHS=— 3

_45(7-15 30470

105~ 35
_ 300 _ 100
105 ~ 35
=0
15
_ 15-14(3)
9
=0

Hence, LH.S=R.H.S

7x+5
3

4x-2

Q20 5( -

)_?:13_

Sol:

xS 23
S(X_)_TJ =

3

13- 82

L 35xH25 | 4x2
==t

_ 23
=13+ =

35x+25+4x-2 39
3 23

Multiply by “3°
=>39x +23=62
=>39x=62-23
=>39x =39

= x=1
Verification

7(5)+5 23

LH.S=15( 3 3

12 3
= 11x—-1=40
=> 11x=41



41
= X= —
11

Verification

75(41)-1

-2
_ BT 1y I
LHS= —T——12(H)-—

Hence, LHS=R.H.S

0.5(x-04)  0.6(x-2.71)

Q22— ~—ga  —x+6l
Sol:

SR - pm = el

— X:]7-4 _ X?)%§7l =x+6.1

_ x_0,4(1,;+2.71 —x161

=>-04+271=0.7x+427
=>0.7x=2.71-04-427

=>0.7x=-1.96
_ _ -196
= X=757
= x=-28
Verification
_0.5((-2.8)-0.4) 0.6((—2.8)-2.71)

LHS= 035 - 0.42
_ -16 3306

0.35 0.42
=-4.571+7.871
=33

RHS=-28+6.1
=33
Hence, LHS=RH.S

19.5x-32.5 13x-26

Q23 6.5x + =6.5x+ 13+ —

Sol:

6.5% + 19.5x-32.5 13x-26
. 2

:6’5X+13+T

_ 195x325  13%26 _

> > 13

19.5x-32.5-13x+26
2

=13
=>6.5x-65=26
=>6.5x=26+06.5
=>6.5x=32.5

o =325

6.5
=5
Verification

LHS = 6.5(5) + 19.5(5)-32.5

=65



13(5)-26
RHS=65(5)+ 13+ -

=65
Hence, LH.S=R.H.S

Q24 (3x—8) Bx+2)—(@x—11)2x+1)=(x-3) (x+7)

Sol:

Bx=8)(Bx+2)—(4x—11)(2x+ 1)=(x=3) (x +7)

=>Ox? + 6x—24x— 16— 8x>—4x + 22x + 11 = x? + 7x—3x—21
=x2=5=x2 +4x-21

=>4x=21-5

= 4x=16

Verification

LHS=(34)-8) (B3(#4)+2)—4(4)—11)24)+1)
=4(16)-35(9)

=11

RHS=(4-3)(4+7)

=11

Hence, L.H.S =R.H.S

Q24 [(2x +3) + (x + 5 + [(2x + 3)=(x + 5)]* = 10x> + 92
Sol:

[2x+3)+ (x+ )P +[2x +3)-(x +5)]? =10x*> + 92

= (3x + 8)2 + (x=2)2 = 10x2 + 92

= Ox? + 48X + 64x + xX°—4x +4 = 10x> + 92

= 10x2—10x> + 44x = 92— 68

Verification

LHS=[2(5) +3) + (5 +5)P +[Q2(F) +3)-(F +35)P
=) +EOP (B - (5P

=(FP + ()

11492

121
RHS=10(3)*+92

360
=224
o7 T2

_ 11492
121

Hence, LHS=RH.S



